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for the questions

the

t answer from
1x6=6

. Choose the correc
following :

(a) Huygens’ eyepiece consists of two
planoconvex lenses of focal lengths

() 3f and f, separated by 2f/3
(i) 3f and f, separated by i
(iit)

(iv) None of the above

f and i separated by 3f/2

{ 263 ( Turn over )

J




(2)

(b) 1 ’
SZPY;:Itliis double-slit experiment, the
and dist:nbetween the slits is halved
@i ce between the slits and
is doubled. The fringe width 15

m unchanged
(i) halveq
(iij) doubleq

) quadrupleq

8P[263

(e)

'v/263

(d) The expression fp

(3)

2
_'n refers to an
nh

optical instrument known as

(i) Michelson interferometer
(i) zone plate

(iii) Huygens’ eyepiece

(iv) None of the above :

The width of the diffraction band

varies

(1) inversely as the wavelength

(ii) directly as the width of the slit

(i) directly as the distance between

the slit and the screen

(iv) inversely as the size of the source

from which the slit is illuminated

( Turn over )



()

2. (g
(b)

(c)
8P/263

(4)

e ¢
optically active compound
(i) rot
ates the plane polarized light

(ii) chan
ges the d .
light irection of polarized

(i) does n

ot allow '
. plane- i
Tih et polarized

(iv) None of the 2t Al

Draw a
n :
of image :t(;ay diagram of formation
assegrainj
lan telescope-

romat;j ve of
i Tlc telescope objecti
S m focal ength consists of two thin

lenses j
oy In contact with each
i ch other and

(d)

(e)

(b)

(c)

(1S}

How does colour appear in thin films?

Define dispersive and resolving power

of a grating.

What do you understand by double

refraction or birefringence?

What is spherical aberration of a lens?

Find the condition for minimum

spherical aberration of two thin lenses

separated by a distance.

the relative merits and demerits

Huygens eyepiece.
jece called a

Give
of a Ramsden and
Whi[ js Huygens eyep

negative eyepiece?

e formation of Newton’s
ochromatic light.
for the radius
ark Ting formed by
you determin€ the
hromatic light

of the nth d
reflection and how

wavelength of monoc

ol
using Newton S ring.

( Turn Qver )
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1+2=3

3+1=4

0+2+2=6
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|
|
) | )
i
(d) Explain the pri |
o :
fringes in FaI;I‘lnmple of formation of | 5. (@) Describe the method of producing
Dedicaing eI'Y-Per(-)t interferometer. } linearly polarized light, circularly
distribution ; XI;ressmn for intensity | polarized  light and elliptically
n fri |
ringes. 3+4=T | polarized light. Explain how they can
be distinguished from each other. 6
(b) Write short notes on the following :
2x2=4

4. (a)
(i) Non-reflecting film

(i) Malus’ law

Compare the ts focal length.
Z

convex lens, one plate with a l fh

1+3+1+2=7

(b) What ;
1L
In F S Plane diffracy, :
g Taunhofer n grating?
Yy a gj
that Saiele . slit
e slit wigth is .05 Supposz
cm an

diffraction  pattern
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